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1. What happens, when we click on a link?
2. What should we be careful about, when we can paste material we want to quote?
3. Is all of the information free to use?

1. controlled by or connected to a computer or to the Internet
2. a list of name or topics that are referred to in a book, etc.
3. a place, person or thing that you get something from
4. a substance that things can be made from
5. a sum of money that you pay regularly to receive a service



1 Why did the citizen call 911? 

(A) His cat got outside the house.
(B) He thinks a cat is in trouble in the tree.
(C) His neighbor went to Mexico on vacation.

2 Whose cat is it? 

(A) The neighbor’s cat.
(B) Adam’s cat.
(C) The citizen’s cat.



3 What will the 911 operator do next? 

(A) Go to the house to help.
(B) Call the neighbor.
(C) Call Animal Services.

4 What does the Citizen want to do? 

(A) Take care of the cat.
(B) Call Animal Services.
(C) Go to Mexico.



What will happen if you go to the study session and don’t study? 

(A) You will get help. (B) You must leave the room.
(C) The teacher will lecture.

When can you start getting help with English? 

(A) The first week of November. (B) Next Monday and Thursday.
(C) Every day.

How often can students get help? 

(A) Every student. (B) Up to 20 students.
(C) Twice a week.



(1)

(because / canceled / the rain / the game / be / of / will / today).

(2) 1

(it / than / kilometer / is / one / to / I / the station / more / think / not).

(3)

(English / easy / book / written / to / simple / beginners / in / this / is / for / read ).

(4)
(been / without / I / have / in / the accident / killed / a seatbelt / would).
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1. It takes us straight to the section of the document we want to refer to. 

2. We should be careful about copyright and not copy, paste, or publish the material without 
permission. 

3. No, some information requires a regular subscription or one-off payments to access. 

1. online 2. index 3. source 4. material 

5. subscription 
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(1) The game will be canceled today because of the rain. 

(2) I think it is not more than one kilometer to the station. 

(3) This book is written in simple English for beginners to read easy. 

(4) I would have been killed in the accident without a seatbelt. 

 



令和 7 年度 
専攻科一般入学試験

【A日程】 
「数学」
（制限時間 50 分） 

注意事項

１．指示があるまで、この用紙を開かないこと。

２．問題用紙および解答用紙に受験番号を記入すること。

３．解答は解答用紙に記入すること。

４．この問題用紙は、回収します。

受験番号

（2024 年（令和 6年）10 月 5 日） 

近畿大学工業高等専門学校



1. 以下の問いに答えなさい。

(1) (2𝑎𝑎 − 𝑏𝑏)3 を展開しなさい。

(2) 不等式 𝑥𝑥2 − 𝑥𝑥 − 1 > 0 を解きなさい。

(3) 方程式 4𝑥𝑥+1 = 8 を解きなさい。

(4) tan 𝜋𝜋
3 の値を求めなさい。

(5) 次の和を求めなさい。

(ア) 12 + 22 + 32 + ⋯+ 122

(イ) 

1



2. 以下の問いに答えなさい。 

(1) 𝑦𝑦 = 1
2
𝑥𝑥4 − 2𝑥𝑥3 + 1

6
𝑥𝑥2 + 5𝑥𝑥 − 8 を微分しなさい。 

(2) 𝑦𝑦 = √6𝑥𝑥 − 1 を微分しなさい。 

(3) 不定積分  を、導出過程も示して求めなさい。 

  

2



3. 以下の問いに答えなさい。 

(1) 𝑎⃗𝑎 = (1, 7), 𝑏𝑏�⃗ = (4, 3) のなす角を求めなさい。 

(2) �
4 6 −2
0 1 4
1 1 1

� の値を求めなさい。 

(3) �3 4
2 1� の固有値と固有ベクトルを求めなさい。 
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4. 以下の問いに答えなさい。 

(1) 2 変数関数 𝑧𝑧 = �𝑥𝑥2 + 𝑦𝑦2 を偏微分しなさい。 

(2) 重積分 ∬ 𝑥𝑥𝑦𝑦2 d𝑥𝑥 d𝑦𝑦⬚
𝐷𝐷  の値を求めなさい。𝐷𝐷 は 0 ≦ 𝑥𝑥 ≦ 1, 𝑥𝑥2 ≦ 𝑦𝑦 ≦ 1 で

表される領域とする。 

(3) 微分方程式 
d𝑦𝑦
d𝑥𝑥

= 2𝑦𝑦
𝑥𝑥
 の一般解を求めなさい。 

(4) 微分方程式 
d2𝑦𝑦
d𝑥𝑥2

− 4 d𝑦𝑦
d𝑥𝑥
− 5𝑦𝑦 = 0 の一般解を求めなさい。 
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5. 放物線 𝐶𝐶:  𝑦𝑦 = 𝑥𝑥2 − 𝑥𝑥 + 1  と直線 ℓ ∶   𝑦𝑦 = −𝑥𝑥 + 2  ついて、以下の問いに

答えなさい。 

(1) 放物線 𝐶𝐶 と直線 ℓ の交点が 2 つある。その交点を 𝑥𝑥 座標が小さい方か

ら 𝑃𝑃、𝑄𝑄 とする。この 2 点 𝑃𝑃、𝑄𝑄 の座標を求めなさい。 

(2) 放物線 𝐶𝐶 と直線 ℓ で囲まれた部分の面積を求めなさい。 

(3) 2 点 𝑃𝑃、𝑄𝑄 で放物線 𝐶𝐶 に接する、それぞれの直線の方程式を求めなさい。 

(4) (3)で求めた 2 つの直線と、放物線 𝐶𝐶 で囲まれる図形を 𝐷𝐷 とする。こ

の図形 𝐷𝐷 の面積を求めなさい。 

(5) (4)の図形 𝐷𝐷 を 𝑥𝑥 軸の周りに 1 回転させてできる立体の体積を求めな

さい。 
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令和 7年度専攻科入学試験（Ａ日程）数学解答例 

 

1. 以下の問いに答えなさい。 

(1) (2𝑎𝑎 − 𝑏𝑏)3 を展開しなさい。 

 8𝑎𝑎3 − 12𝑎𝑎2𝑏𝑏 + 6𝑎𝑎𝑏𝑏2 − 𝑏𝑏3  
(2) 不等式 𝑥𝑥2 − 𝑥𝑥 − 1 > 0 を解きなさい。 

 𝑥𝑥 < 1−√5
2

, 1+√5
2

< 𝑥𝑥 

(3) 方程式 4𝑥𝑥+1 = 8 を解きなさい。 

 𝑥𝑥 = 1
2
 

(4) tan 𝜋𝜋
3 の値を求めなさい。 

 √3 
(5) 次の和を求めなさい。 

 (ア) 12 + 22 + 32 + ⋯+ 122 
  650 

 (イ)  

  35 
 

2. 以下の問いに答えなさい。 

(1) 𝑦𝑦 = 1
2
𝑥𝑥4 − 2𝑥𝑥3 + 1

6
𝑥𝑥2 + 5𝑥𝑥 − 8 を微分しなさい。 

 𝑦𝑦′ = 2𝑥𝑥3 − 6𝑥𝑥2 + 1
3
𝑥𝑥 + 5 

(2) 𝑦𝑦 = √6𝑥𝑥 − 1 を微分しなさい。 

 𝑦𝑦′ = 1
2√6𝑥𝑥−1

∙ 6 = 3
√6𝑥𝑥−1

 

(3) 不定積分  を、導出過程も示して求めなさい。 

 ∫𝑥𝑥𝑒𝑒2𝑥𝑥 𝑑𝑑𝑑𝑑 = ∫𝑥𝑥 �12 𝑒𝑒
2𝑥𝑥�

′
𝑑𝑑𝑑𝑑 

   = 1
2
𝑥𝑥𝑒𝑒2𝑥𝑥 − ∫ 𝑥𝑥′ ∙ 12 𝑒𝑒

2𝑥𝑥 𝑑𝑑𝑑𝑑 = 1
2
𝑥𝑥𝑒𝑒2𝑥𝑥 − ∫ 1

2
𝑒𝑒2𝑥𝑥 𝑑𝑑𝑑𝑑 

   = 1
2
𝑥𝑥𝑒𝑒2𝑥𝑥 − 1

4
𝑒𝑒2𝑥𝑥 + 𝐶𝐶  �𝐶𝐶は積分定数� 



 

3. 以下の問いに答えなさい。 

(1) 𝑎⃗𝑎 = (1, 7), 𝑏𝑏�⃗ = (4, 3) のなす角を求めなさい。 

 |𝑎⃗𝑎| = √12 + 72 = √1 + 49 = √50 = 5√2 
 �𝑏𝑏�⃗ � = √42 + 32 = √16 + 9 = √25 = 5 
 𝑎⃗𝑎 ∙ 𝑏𝑏�⃗ = 1 ∙ 4 + 7 ∙ 3 = 4 + 21 = 25 

 なす角を 𝜃𝜃 として cos𝜃𝜃 = 𝑎𝑎�⃗ ∙𝑏𝑏�⃗

|𝑎𝑎�⃗ |�𝑏𝑏�⃗ �
= 25

5√2∙5
= 1

√2
 より 𝜃𝜃 = 45° (𝜃𝜃 = 1

4
𝜋𝜋) 

(2) �
4 6 −2
0 1 4
1 1 1

� の値を求めなさい。 

 �
4 6 −2
0 1 4
1 1 1

� = �
0 2 −6
0 1 4
1 1 1

�
[1 行目− 3 行目 × 4]

 

  = 1 ∙ �2 −6
1 4 � = 2 ∙ 4 − (−6) ∙ 1 = 8 + 6 = 14 

(3) �3 4
2 1� の固有値と固有ベクトルを求めなさい。 

 𝐴𝐴 の固有値は 

 |𝜆𝜆𝐸𝐸 − 𝐴𝐴| = �𝜆𝜆 − 3 −4
−2 𝜆𝜆 − 1� = (𝜆𝜆 − 3)(𝜆𝜆 − 1) − (−4) ∙ (−2) 

  = (𝜆𝜆2 − 4𝜆𝜆 + 3) − 8 = 𝜆𝜆2 − 4𝜆𝜆 − 5 = (𝜆𝜆 − 5)(𝜆𝜆 + 1) = 0 より 

 𝜆𝜆 = 5,−1 
 固有値 𝜆𝜆 = 5 に対する固有ベクトルは 

  � 2 −4
−2 4 � 𝒙𝒙 = 𝟎𝟎 より 𝒙𝒙 = 𝑐𝑐1 �

2
1� ≡ 𝑐𝑐1𝒙𝒙1 (𝑐𝑐1 ≠ 0) 

 固有値 𝜆𝜆 = −1 に対する固有ベクトルは 

  �−4 −4
−2 −2� 𝒙𝒙 = 𝟎𝟎 より 𝒙𝒙 = 𝑐𝑐2 �

1
−1� ≡ 𝑐𝑐2𝒙𝒙2 (𝑐𝑐2 ≠ 0) 

  



4. 以下の問いに答えなさい。 

(1) 2 変数関数 𝑧𝑧 = �𝑥𝑥2 + 𝑦𝑦2 を偏微分しなさい。 

 𝑧𝑧𝑥𝑥 = 1
2�𝑥𝑥2+𝑦𝑦2

∙ 2𝑥𝑥 = 𝑥𝑥
�𝑥𝑥2+𝑦𝑦2

, 𝑧𝑧𝑦𝑦 = 1
2�𝑥𝑥2+𝑦𝑦2

∙ 2𝑦𝑦 = 𝑦𝑦
�𝑥𝑥2+𝑦𝑦2

 

(2) 重積分 ∬ 𝑥𝑥𝑦𝑦2 d𝑥𝑥 d𝑦𝑦𝐷𝐷  の値を求めなさい。𝐷𝐷 は 0 ≦ 𝑥𝑥 ≦ 1, 𝑥𝑥2 ≦ 𝑦𝑦 ≦ 1 で表される領域

とする。 

 ∬ 𝑥𝑥𝑦𝑦2 d𝑥𝑥 d𝑦𝑦𝐷𝐷  

 = ∫ ∫  𝑥𝑥𝑦𝑦2 d𝑦𝑦 d𝑥𝑥1
𝑥𝑥2

1
0  

 = ∫ �𝑥𝑥 ∙ 1
3
𝑦𝑦3�

𝑥𝑥2

1
d𝑥𝑥1

0  

 = ∫  1
3
𝑥𝑥{13 − (𝑥𝑥2)3} d𝑥𝑥1

0  

 = ∫  1
3
𝑥𝑥(1 − 𝑥𝑥6) d𝑥𝑥1

0  

 = ∫  1
3

(𝑥𝑥 − 𝑥𝑥7) d𝑥𝑥1
0  

 = 1
3
�1
2
𝑥𝑥2 − 1

8
𝑥𝑥8�

0

1
 

 = 1
3
�1
2

(12 − 02) − 1
8

(18 − 08)� 

 = 1
3
�1
2
− 1

8
� = 1

3
∙ 4−1

8
= 1

3
∙ 3
8

= 1
8
 

(3) 微分方程式 
d𝑦𝑦
d𝑥𝑥

= 2𝑦𝑦
𝑥𝑥
 の一般解を求めなさい。 

 
1
𝑦𝑦

d𝑦𝑦 = 2
𝑥𝑥

d𝑥𝑥, ∫ 1
𝑦𝑦

d𝑦𝑦 = ∫ 2
𝑥𝑥

d𝑥𝑥, log|𝑦𝑦| = 2 log|𝑥𝑥| + 𝐶𝐶1,  

 log|𝑦𝑦| − 2 log|𝑥𝑥| = 𝐶𝐶1, log � 𝑦𝑦
𝑥𝑥2
� = 𝐶𝐶1, �

𝑦𝑦
𝑥𝑥2
� = e𝐶𝐶1, 𝑦𝑦

𝑥𝑥2
= ±e𝐶𝐶1 ≡ 𝐶𝐶 

 一般解は 𝑦𝑦 = 𝐶𝐶𝑥𝑥2 

(4) 微分方程式 
d2𝑦𝑦
d𝑥𝑥2

− 4 d𝑦𝑦
d𝑥𝑥
− 5𝑦𝑦 = 0 の一般解を求めなさい。 

 特性方程式は 𝜆𝜆2 − 4𝜆𝜆 − 5 = 0, (𝜆𝜆 + 1)(𝜆𝜆 − 5) = 0,  
  𝜆𝜆 = −1, 5(異なる2個の実数解) 

 一般解は 𝑦𝑦 = 𝐶𝐶1e−𝑥𝑥 + 𝐶𝐶2e5𝑥𝑥  



5. 放物線 𝐶𝐶:  𝑦𝑦 = 𝑥𝑥2 − 𝑥𝑥 + 1  と直線 ℓ ∶   𝑦𝑦 = −𝑥𝑥 + 2  ついて、以下の問いに答えなさい。 

(1) 放物線 𝐶𝐶 と直線 ℓ の交点が 2 つある。その交点を 𝑥𝑥 座標が小さい方から 𝑃𝑃、𝑄𝑄 と
する。この 2 点 𝑃𝑃、𝑄𝑄 の座標を求めなさい。 

 𝑥𝑥2 − 𝑥𝑥 + 1 = −𝑥𝑥 + 2 → 𝑥𝑥2 − 1 = (𝑥𝑥 − 1)(𝑥𝑥 + 1) = 0 ∴ 𝑥𝑥 = ±1  
 ∴   𝑥𝑥 = −1 → 𝑦𝑦 = 3 , 𝑥𝑥 = 1 → 𝑦𝑦 = 1  
 ∴   𝑃𝑃(−1 , 3)  ,𝑄𝑄(1 , 1)   
(2) 放物線 𝐶𝐶 と直線 ℓ で囲まれた部分の面積を求めなさい。 

 ∫ {(−𝑥𝑥 + 2) − (𝑥𝑥2 − 𝑥𝑥 + 1)} 1
−1 𝑑𝑑𝑑𝑑 = ∫ (−𝑥𝑥2 + 1) 1

−1 𝑑𝑑𝑑𝑑 

  = 2 �− 1
3
𝑥𝑥3 + 𝑥𝑥�

0

1
= 2 �− 1

3
+ 1� = 4

3
  

 ∴   求める面積は
4
3
  

(3) 2 点 𝑃𝑃、𝑄𝑄 で放物線 𝐶𝐶 に接する、それぞれの直線の方程式を求めなさい。 

 𝑦𝑦 = 𝑥𝑥2 − 𝑥𝑥 + 1 → 𝑦𝑦′ = 2𝑥𝑥 − 1 
 ∴   𝑥𝑥 = −1 → 𝑦𝑦′ = −3 ∴ 𝑦𝑦 − 3 = −3(𝑥𝑥 + 1)  ∴点 𝑃𝑃 での接線の方程式は 𝑦𝑦 = −3𝑥𝑥  
       𝑥𝑥 = 1 → 𝑦𝑦′ = 1 ∴   𝑦𝑦 − 1 = 𝑥𝑥 − 1 ∴  点 𝑄𝑄 での接線の方程式は 𝑦𝑦 = 𝑥𝑥  
(4) (3)で求めた 2 つの直線と、放物線 𝐶𝐶 で囲まれる図形を 𝐷𝐷 とする。この図形 𝐷𝐷 の

面積を求めなさい。 

 ∫ {(𝑥𝑥2 − 𝑥𝑥 + 1) − (−3𝑥𝑥)}  0
−1 𝑑𝑑𝑑𝑑 + ∫ {(𝑥𝑥2 − 𝑥𝑥 + 1) − 𝑥𝑥} 1

 0 𝑑𝑑𝑑𝑑 

  = ∫ (𝑥𝑥2 + 2𝑥𝑥 + 1)  0
−1 𝑑𝑑𝑑𝑑 + ∫ (𝑥𝑥2 − 2𝑥𝑥 + 1)1

0 𝑑𝑑𝑑𝑑 

  = �1
3
𝑥𝑥3 + 𝑥𝑥2 + 𝑥𝑥�

−1

   0
+ �1

3
𝑥𝑥3 − 𝑥𝑥2 + 𝑥𝑥�

0

1
= −�−1

3
+ 1 − 1� + �1

3
− 1 + 1� = 2

3
 

  ∴   求める面積は
2
3
  

(5) (4)の図形 𝐷𝐷 を 𝑥𝑥 軸の周りに 1 回転させてできる立体の体積を求めなさい。 

 𝜋𝜋 ∫ (𝑥𝑥2 − 𝑥𝑥 + 1)2  1
−1 𝑑𝑑𝑑𝑑 − 𝜋𝜋 ∫ (−3𝑥𝑥)2 0

−1 𝑑𝑑𝑑𝑑 − 𝜋𝜋 ∫ 𝑥𝑥2 1
 0 𝑑𝑑𝑑𝑑 

 = 𝜋𝜋 ∫ (𝑥𝑥4 − 2𝑥𝑥3 + 3𝑥𝑥2 − 2𝑥𝑥 + 1)  1
−1 𝑑𝑑𝑑𝑑 − 𝜋𝜋 ∫ 9𝑥𝑥2 0

−1 𝑑𝑑𝑑𝑑 − 𝜋𝜋 ∫ 𝑥𝑥2 1
 0 𝑑𝑑𝑑𝑑 

 = 2𝜋𝜋 �1
5
𝑥𝑥5 + 𝑥𝑥3 + 𝑥𝑥�

0

1
− 9𝜋𝜋 �1

3
𝑥𝑥3�

−1

   0
𝜋𝜋 �1

3
𝑥𝑥3�

0

1
 

 = 2𝜋𝜋 �1
5

+ 1 + 1� − 3𝜋𝜋 − 1
3
𝜋𝜋 = 22

5
𝜋𝜋 − 10

3
𝜋𝜋 = 66−50

15
𝜋𝜋 = 16

15
𝜋𝜋 

 ∴   求める回転体の体積は 16
15
𝜋𝜋  
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